[ Efficiency vs vertpos |

= 0.0
g .009
.008
.007
.006
0.005
0.004
0.003

eHICIgNCYYS ¥

..............................

..............................

..............................

..............................

S
o 4%- -
]

0.950

1072 107 1

=== DQM VOUUUI_RUUUUU0U0T —Global—CMSS
—— DQM_V0001_R000000001__Global _CMSS
—— DQM_V0001_R000000001__Global _CMSSW
—— DQM_V0001_R000000001_Global

10 0?
TP vertr (cr%)

W_

=

CMSSW_X Y Z

Efficiend

0.95!

[ Efficiency vs. sim PV z |

20

10
TP vert z (cm)

30

~ 0.0

> E : : :
D(_J.009:— --------- FEPEPETE PP L
5 .008f i SR S SO RO S
D.007F i b e
> y : : :
D).006f----i----- e e
9 - : : :
£).005F- -+ SR S U S TR
[0 E . : :
0,004 ++-i--erviommebenen b
0.003F- -+ RN R R O
T R N
0.001+++iveerchprs b R SR SR S

A AT g e ol i a2 S
9 LWl * + : . I
R S B A :
o [ : ] : :

RN RRRIES o mn e o

8 6 -4 -2

0 2 4
Sim. PV z (cm)




	Contents
	Page 1


